POST HEADER
BRACKET ATTACHED
W/<4) 5/16* DIA, x
1-5/8° LAG BOLTS

1/2° MIN,
'_EDGE DISTANCE

T ® [)

L T )

C(INSTALLED

(SOUTHERN YELLOW N.T.S.

3’ x 1-1/2° x 11GA,
VERTICAL POST
LENGTH = DOOR HT. + S5-1/2*

ONLY DURING

A HIGH WIND EVENT>

2) ADDITIONAL FASTENERS, (1) EACH SIDE OF POST
(SEE wOOD JAMB & HEADER ATTACHMENT TO

STRUCTURE FOR FASTENER INFORMATION AND
WOOD HEADER TYPICAL HEADER BRACKEL@ A R R e

PINE NO. 2 OR BETTER>

)l

2-1/2" x 10-1/2* or 2-1/2' x 13-1/2*
20GA STILE APPLIED WITH DOUBLE-

/—EACKED ADESIVE TAPE

8’ MAX
DOOR
HEIGHT

13 GA. GALV. COMMERCIAL

TOP ROLLER BRACKET
ATTACHED W/(3) 1/4" x
3/4" HEX HEAD SCREWS

PER

2 7 BALL STEEL
OR NYLON ROLLER

BRACKET

~ i —)

ADJUSTABLE ROLLER CARRIER
ATTACHED W/ (@ 1/4" x 1/2*
BOLT & NUT PER BRACKET

3’ 20GA. STRUT

ATTACHED W/ (3 174" x 3/4*
HEX HEAD SCREWS AT
EACH END STILE

N.T.S.

3 20GA. STRUT
ATTACHED W/

@ 174" X 3/4*
HEX HEAD SCREWS
AT END AND CENTER
STILES

2" 7 BALL STEEL

OR NYLON ROLLER

TYPICAL TOP FIXTURES 1 s
ol (SPLICE>

BOTTOM BRACKET

13 GA. THICK ATTACHED
W/(3)> 174" X 3/4*
HEX HEAD SCREWS

N.T.S

TYPICAL BOTTOM BRACKET@

13 GA COMMERCIAL
TOP FIXTURE ATTACHED W/

.

:

—_
=3
~

~
-
o

by
~

SPLICE TRACKS AT THIS LOCATION

W/(4) 1/4”-20 TRACK SPLICE
BOLTS & NUTS SECURE TO JAMB

- WITH (3) 5/16” DIA. x 1-5/8"
63 LAG BOLTS.
(1) 5/16” DIA. x 1-5/8"

LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET

12 GA. GALV. STEEL

JAMB BRACKETS

ATTACHED W/ (1) 1/4"—20
TRACK SPLICE BOLT & NUT
OR (2) RIVETS

(3) 1/4* x 3/4° HEX HEAD 1-3/8" f
' SCREWS ADJUSTABLE SLIDE \|.|—
BRACKET ATTACHED E ’ J
%Ze W/ 17a % Lyer BOLT 3 TRACK CONFIGURATION FOR (7°) AND 8 TALL DOORS
ZEE AND NUTS h N.T.S.
gl
T S
FRONL A (LOCATED AT THE
TOP AND BOTTOM)
. o W POST LOCATED IN THE CENTER OF DOOR INTERIOR OF GARAGE ,", 2Ev | DESCRPTION OF REVISONS ot lar
—=| MAX. WDTH 180" |=— CFC-FREE EXPANDED
INSIDE ELEVATION POLYSTYRENE INSULATION A | NOTE 4 SKIN GAUGE CORRECTED 2/21/08| KW
—bolUL ELEVAILR R=5.73, U=0.17
N.T.S. B | REVISED NOTE 6 9/2/08 | BHG
3% POGA. STRUT 14 GA. END HINGE JAMB DESION LOADS [ITTTTTTTTIT] Heaper pesien LoaDS END HINGE
14GA. CENTER HINGE ATTACHED W/ (@) ATTACHED Hises ggﬂ SEE NOTES 1 & 2 1332 LBS 14 GA. C  [UPDATED WJATS, ASCE MPH DETAL, ADDED TABLE 2| 12/1/11 | RLR
ATTACHED 174% x 374" HEX W/ (@ 1/4° x 3/4*
W/ (&) 174 x 3/4° HEAD SCREWS HEX HEAD SCREWS ©
3" 20GA. STRUTS ATTACHED X HEAD SCREWS
W/ (@) 1/4 x 3/4° %- MAX SIZE
HEX HEAD SCREWS AT 14GA. ROLLER CARRIERS ATTACHED 4 N
EACH CENTER STILE TO END STILE W/ (@) 1/4" x 3/4°
3 20GA STRUT HEX HEAD SCREWS PER CARRIER J BaCK SKIN DESIGN LOADS
ATTACHED W/ (& . . 4 +37.0 PSF
@ 7/16" x 3/4
174 x 3/4" HEX 2" 7 BALL STEEL %l _
HEAD SCREWS OR NYLON ROLLER UNIVERSAL SCREWS LIFT CABLES h BOTIOM BRACKET 40.6 PSF
o AL CENTER HINGE ¥ TR STROT €L \ Q}T?B) 1/4 x 3/47 TEST LOADS / /
N.T.S. -LYTPSICAL END HINGE @ HEX HEAD SCREWS (1.5 x DESIGN LOADS " ,9}). 8 5 8 2 %3/@9/201
TYPICAL STRUT CLIP PLACEMENT (" +55.5 PSF ',‘ N .{_{q!sn.s.‘?;_‘?. A
N-TS. =————CONTINUOUS ALUMINUM EXTRUSION —61.0 PSF \\ SSIo,{,}&\_Eﬂc’-—’
(1) 5/16” DIA. x 1-5/8” 2 X 6 SOUTHERN YELLOW PINE WITH CONTINUOUS VINYL ASTRAGAL \\ <~
LAG BOLT ATTACHED TO JAMB (NO. 2 OR BETTER) \\\\\
SECTION A—A (SIDE VIEW)
N.T.S.

1/8* DIA. CABLE

/_ AT EA. JAMB BRACKET COTTER PIN
CLEVIS PIN\ /

/ / -
— 20 cA GALV. STEEL

END STILI

2’ x 2’ x 1-1/e'-
1/4-20 x S/8’TRACK
SPLICE BOLT AND NUT VERTICAL POST

OR (2> RIVETS
BASE PLATE <OPTIONAL> 172* DIA. EYE BOLT

TRACK MOUNTING DETAIL
N.T.S.

o E—

125 THICK

ANGLE ATTACHED TO POST
WITH (2> 1/4-20 BOLTS

2" GALV. STEEL TRACK

THE METHOD OF TESTING WAS IN SUBSTANTIAL
CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM
E330 AND DASMA 108. THE PRESSURES SHOWN ON THE
DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH
THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN
THE END ZONE, ROOF AT ANY SLOPE):

WIND SPEED (MPH) 155 140 133 127 122
EXPOSURE LEVEL B C C D D
MEAN ROOF HEIGHT 30’ 15’ 25’ 15’ 25’

TRACK THICKNESS .051"

SPECIFICATIONS AND NOTES

1. THE HEADER RECEIVES MAXIMUM DESIGN LOADS OF:
+1332 LBS & —1461.6 LBS AT THE TOP OF THE POST.

2. EACH VERTICAL JAMBS RECEIV/E'__SI_ MAXIMUM DESIGN LOADS OF:

+166.5 LBS/FT & -182.7 LB

3. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

arr,

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

MODEL #1500 STRATFORD 3000
MODEL #1200 HERITAGE 3000

4. DOOR SECTIONS SHALL BE 27 GA. MIN. (.0151") INTERIER AND EXTERIER MODEL #1550 0OAK SUMMIT 3000

SKIN ROLLED FORMED LIGHT COMMERCIAL QUALITY
5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED
BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS

INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

SHORT, LONG, FLUSH & OAK SUMMIT PANELS
SITE [ORAWN BY  BHG |DATE 11/08/06 DRAWNG NUMBER
B |cHeckeD BY DL/ |DATE  11/08/06 IRC-1518-155-45

SHEET 1 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


-!l{p

Y/

Y

(@> 3/8-16 HEX NUTS
AND FLAT WASHER

HEADER POST BRACKET
ATTACHED W/<4) 5/16 d
x 1-5/8" LAG BOLTS

CLEVIS PIN
(KEEP IN BRACKET
WHEN POST IS NOT
INSTALLED>

COTTER PI

1/8" x 13-1/2" CABLE

2 x 2" ANGLE ATTACHED W/
(2> 1/4’-20 BOLTS & NUT

SECTION A—A (FOR 8 TALL DOOR)

N.T.S.

3/16° THICK STEEL
HEADER POST BRACKET

\

~A

3" x 1-1/2* x 11GA
VERTICAL POST

LENGTH = DOOR HT. + S5-1/2°
CINSTALLED ONLY DURING A
HIGH WIND EVENT>

3/8'-16 x 10
CARRIAGE BOLT

TILE BRACKET ATTACHED
W/@) 1/4" x 3/4" HEX
HEAD SCREWS

/2 EYE BOLT. 1-3/4“ MIN.
EMBEDMENT INTO CONCRETE
(DRILL 1/2‘¢ x 2 DEEP HOLE
IN CONCRETE. IF BASE PLATE
USED DRILL 5/8‘¢ HOLE>

BASE PLATE
(OPTIONALY

2) 174" x 1" TAPCONS.

DOOR HEIGHT

VERTICAL LIFT

E

AVAILABLE TRACK CONFIGURATIONS

WOOD JAMB & HEADER ATTACHMENT TO STRUCTURE

*SEE NOTE 1*

2 X 6 VERTICAL JAMB & HEADER ATTACHMENT TO WOOD FRAME STRUCTURE

S5/16" X 3" LAG SCREWS STARTING 6 FROM ENDS THEN 247 0O.C. <1 1/2° EMBEDMENT>

2 X 6 VERTICAL JAMB & HEADER ATTACHMENT TO 2,000 PSI CONCRETE

HILTI KWIK BOLT 3/8° X 4” STARTING 6” FROM ENDS THEN 24 O.C. (2 1/2° EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8" X 2-3/4 STARTING 6“ FROM ENDS THEN 24” 0OC, (1 1/4” EMBEDMENT)
ITW/RAMSET REDHEAD (TRU-BOLT) 3/8“ X 4’ STARTING 6 FROM ENDS THEN 24“ O.C. (2 1/2° EMBEDMENT)
2 X 6 VERTICAL JAMB & HEADER ATTACHMENT TO HOLLOW C-90 BLOCK *SEE NOTE 2*

SIMPSON 1/4* X 3 TITEN SCREWS STARTING 6” FROM ENDS, USE PAIRS OF FASTENERS

(3" APART)> AT 16" OC. <1 1/2° EMBEDMENT)

HILTI 1/4* X 2-3/4’ KWIK-CON II+ SCREWS STARTING 6 FROM ENDS, USE PAIRS OF

FASTENERS (3 APART)> AT 16” OC. <1 1/4* EMBEDMENT)

2 X 6 VERTICAL JAMB & HEADER ATTACHMENT TO GROUTED C-90 BLOCK <2000 PSI GROUTY

HILTI SLEEVE ANCHOR 3/8” X 2-3/4“ STARTING 6” FROM ENDS THEN 24’ OC.

(1 1/4* EMBEDMENT>

*NOTES*
1. REFER TO DETAIL (6) FOR ADDITIONAL FASTENERS AT HEADER
2. OPTION NOT AVAILABLE FOR HEADER ATTACHMENT
3. LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE
4. PREPARATION OF WOOD JAMBS BY OTHERS

\ \ \ \

HIGH LIFT

STANDARD LIFT

wooD CONCRETE HOLLOW BLOCK
GROUTED BLOCK
E STRUCTURE STRUCTURE STRUCTURE STRUCTURE
G ! ! F
g
M 1 \ I \ O \
| - T | -
1/2* MIN 2-3/4" MIN 1-1/2" |MIN 4
2X6 JAMB - |
TYP. 3 MIN
REV | DESCRIPTION OF REVISIONS DATE | BY
A NOTE 4 SKIN GAUGE CORRECTED 2/2/08| KW
B | REVISED NOTE 6 9/2/08 | BHG
C  |UPDATED WUATS, ASCE MPH DETAIL, ADDED TABLE 2| 12/1/11 |RLR

\\\\\\
MAX SIZE ~‘
18" x 8 N\ 5,9.'.:..,5* \\
o ‘70
DESIGN LOADS ; |

l
+37.0 PSF /4 A

~40.6 PSF 7
HOI\/lAS L. SHELMERDINE ¢

z (1.5T Esl;ll-:sll_c?qALDoins " '9’) 8582 %3/“?9/ 2012
S +55.5 PSF Wos: -QgENs.e“ ‘{o z
2 —61.0 PSF ‘\\ SS/O.A'J"LE‘\ =
I ||| \\\\\\‘
= | B
=af

£

arr,

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM
MODEL #1500 STRATFORD 3000
MODEL #1200 HERITAGE 3000

MODEL #1550 OAK SUMMIT 3000

A A

SHORT, LONG, FLUSH & OAK SUMMIT PANELS
SIZE DRAWN BY ~ BHG |DATE 11/08/06 DRAWING NUMBER

N.T.S.

B |cHeckeD BY DL/ |DATE  11/08/06 IRC-1518-155-45
SHEET 2 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


TABLE 2

Section
Positive | Negitive
Width (PSF) (PSF)
(ft)
162 40.9 44.9
16'4 40.5 44.5
16'6 40.1 44
16'8 39.7 43.6
16'10 39.3 43.1
170 38.9 42.7
172 38.6 42.3
17'4 38.2 41.9
17'6 37.8 41.5
17'8 37.5 41.1
17'10 37.1 40.7
180 37 40.6

TABLE 1
Stile Locations
Section (Measured From Left Edge)
Panel
Width W!dth Helg.;ht(s) Type 1nd (in) 2nd (in) 3rd (in)
(ft) (in) (in)

16'-2" 194 18&21 Short | 50.272 | 97.000 | 143.728
16'-2" 194 18&21 long | 51.168 | 97.000 | 142.834
16'-2" 194 18&21 Oksmt | 48.688 96.938 145.188
16'-4" 196 18&21 Short | 51.272 | 98.000 | 144.728
16'-4" 196 188&21 long | 52.168 | 98.000 | 143.834
16'-4" 196 18&21 Oksmt | 49.022 | 97.940 | 146.858
16'-6" 198 18&21 Short | 52.272 | 99.000 | 145.728
16'-6" 198 18&21 long | 51.340 | 99.000 | 146.660
16'-6" 198 18&21 Oksmt | 49.355 98.939 148.523
16'-8" 200 18&21 Short 51.340 100.000 | 148.660
16'-8" 200 18&21 Long | 52.200 | 100.000 | 147.800
16'-8" 200 18&21 Oksmt | 49.855 99.939 150.023
16'-10" | 202 18821 Short | 51.500 | 101.000 | 150.500
16'-10" | 202 188&21 Long | 53.200 | 101.000 | 148.800
16'-10" 202 18&21 Oksmt | 50.355 100.939 | 151.523
17'-0" 204 18&21 Short 53.340 102.000 | 150.660
17'-0" 204 18&21 long | 54.200 | 102.000 | 149.800
17'-0" 204 18&21 Oksmt | 50.855 101.939 | 153.023
17'-2" 206 18&21 Short 53.000 103.000 | 153.000
17'-2" 206 18&21 long | 55.200 | 103.000 | 150.800
17'-2" 206 18&21 Oksmt | 51.355 102.939 | 154.523
17'-4" 208 18&21 Short 54.000 104.000 | 154.000
17'-4" 208 18&21 long | 56.200 | 104.000 | 151.800
17'-4" 208 18&21 Oksmt | 51.855 103.939 | 156.023
17'-6" 210 18&21 Short 55.000 105.000 | 155.000
17'-6" 210 18&21 long | 57.200 | 105.000 | 152.800
17'-6" 210 18&21 Oksmt | 52.355 104.939 | 157.523
17'-8" 212 18&21 Short 54.800 106.000 | 157.200
17'-8" 212 18&21 Llong | 55.800 | 106.000 | 156.200
17'-8" 212 18&21 Oksmt | 52.855 105.939 | 159.023
17'-10" 214 18&21 Short 55.800 107.000 | 158.200
17'-10" | 214 18821 long | 56.250 | 107.000 | 157.750
17'-10" 214 18&21 Oksmt | 53.355 106.939 | 160.523
18'-0" 216 18&21 Short 57.250 108.000 | 158.750
18'-0" 216 18&21 long | 57.800 | 108.000 | 158.200
18'-0" 216 18&21 Oksmt | 53.855 107.939 | 162.023

REV | DESCRIPTION OF REVISIONS DATE |BY

A | NOTE 4 SKIN GAUGE CORRECTED 2/21/08| SKW

B | REVISED NOTE 6 9/2/08 | BHG

C  |UPDATED WUATS, ASCE MPH DETAL, ADDED TABLE 2| 12/1/11 |RIR

~§\\\\\\\\
MAX SIZE = OF T/ "\
181 x 81 ’,- };".E. ........ .5.4 \‘
~ . .
DESIGN LOADS ;
+37.0 PSF ;
2108 Por | 2/ N
SHELIVIERDINE’
A 7
TEST LOADS ,

(1.5 x DESIGN LOADS 'f"?p'-,. (85 82 %)3/“?g/ 2012
+55.5 PSF |‘O/°"'-~/.‘:‘§N§?:.--&;\\§".«’
—61.0 PSF \\SSIoNALENS =

\\\\\\\‘~

Awmary

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

MODEL #1500 STRATFORD 3000
MODEL #1200 HERITAGE 3000
MODEL #1550 OAK SUMMIT 3000
SHORT, LONG, FLUSH & OAK SUMMIT PANELS

SIZE [ DRAWN BY  BHG

DATE  11/08/06

B |cHecken Y 0w

DATE  11/08/06

DRAWNG NUMBER
IRC-1518-155-45

SHEET 3 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


	1518-155-45 TX UPDATED 2-23-12
	p2
	p3

